CH 223 Worksheet 9

1. The addition i)f HCI to an alkene produces 2-chloropropane. What is the alkene? C_{
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2. When cyclopropane is treated with HI, 1-iodopropane is formed. A similar type of reaction does not
occur with cyclopentane or cyclohexane. How do you account for the reactivity of cyclopropane?
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3. Which of the following molecules is unsaturated?
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4. What are the characteristic hybrid orbitals employed by (a) carbon in an alkane, (b) carbon in a double
bond in an alkene, (c) carbon in the benzene ring, (d) carbon in a triple bond in an alkyne?
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5. Using condensed structural formulas, writé*a balanced chemical equation for the addition reaction of
2,4-dimethyl-2-pentene with bromine. M= o be
Clg I 3\(3 : ] | {
t C C‘.,Jr' (v + Tir} 7 CHi-c- c-—u—f«dg
- ot o ) !
(gﬁ} C 5 Br B
6. Give IUPAC names for the following:
2
% CHCH, 3
@ Bencn,cn,cn, ® (':_ < CH, CHCH,CH;
] L=
(CHy M W\ }'I H Or-g-»O(,"'Z/V\Q,J
12; 3wt xang Cis-o-methylioct-3-cne

(©) —CH;

W &%&ﬁ {.‘;.L\éwta ‘Q.U_JFCL(LQ_

CH,CH |

(d) [HCECCH,CH —
cH, [O‘:"’ ~ 1= herynt
% - )v;\{vﬁx\'g,/\%é - .{_)( - ("L\ﬂ«\ﬁ .

A ol ks has &JWE@;’;J

a3t

loheywa na. ot /\0+




